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Math 303: Quiz # 4

Fall 2004

s You have 40 minutes.

o You may ask any question about the quiz within the first 5 minutes. After this time for any

(uestion you may want to ask 2 points will be deduced from your grade.

1. Let f: R — C be a square-integrable function with Fourier transform f. Show that

71 f(a)|*de = ¢ = f(k)[*dk, where cis a nonzero constant independent of f. (5 paints)
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2. Compute / \ —j where f is the Fourier transform of the function f: R — R defined by

Fliie { 1 for |o| <1 (7 points)

0 for |z|> L &
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3. Let

Fly(z)] == / ue) 40

o ¥'{x)
Find the most general twice differentiable function y : [0, 1) — R for which F [y(x)] exists

and dFly(x)] = 0, alternatively M =), (8 points)
dy(E)
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